Lecture! 9

Theorem 1. Let u € &™(QY) be of order m, ¢ € C™(Q) satisfying

0% =0 on suppu, Ve <m = u(é)=0.

Proof. Denote . € 2(2) cut off function such

1 onnbhd K
Xe 0 outside K + B..

We will use a known property that, 0%y < Ce™ 1l V|a| < m.
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Now by boundedness of distribution u and u(¢) = u(x.¢) in K,
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It is necessary to check for the nontrivial cases. For |a| =m
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%py) = 0%¢(x) + o(ly — x|) = 9%p(x) + o(e).

For case |a| < m, we make use of the Taylor expansion. Let 9% = 1),

by) =)+ D (y—2)?0°0%(x)/a! + R
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R denoting the remainder terms. Note that since x € supp ¢, then all but the remainder term vanishes
in the expansion above.

W) =IRI<C Y [0%ap(@)em T ez —yl.
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Corollary 1. Let u € 2'(Q), with supp u = {y} for some y € Q.Then,
u(@) = Y aad*$(y)
ja]<m
for some m and {an}. That is, u =) aa0%0, a finite sum.
Proof.
$lz) =Y 9°¢(y) (x —y)*/a! +4(x)
|| <m
a(x)
then,
(@)= 3 wl)ddly) + ulw).
o] <m
Since 0%9(y) = 0 for |a| < m then the remainder term is zero. O
Convolutions

The convolution is defined on regular space function as follows:

(u*v) (@) = / w(y)o(e — y)dy = / u(z — y)o(y)dy = (v + u)(z)

There are some conditions which must be imposed on v and v so that the integral above exists. For
example this would hold for v € LL(R") and u € L{ (R™). Another option is when u,v € L*(R™)

loc

which holds since
Juxvl[p < [Jullza|[v] L

Moreover, the convolution possesses the following property:
0% (uxv) = (0%) * v,
if || <m, u € C™ and v € L. The key is to notice that this product rules exists provided only one

of the functions satisfies regularity conditions in the classical sense.

In order to define the convolution in the distributional sense, we define the following.



Definition 1. For v € LL(R"), define C, : Z(R™) — IR"™ by
Cou:urvs*u
The support of u x v C supp u + supp v.
Theorem 2. The operator C, : C™(R™) — C™(R™), for 0 < m < 0o is continuous.

Proof. Py(¢) = ||¢llci(k) for K compact, | nonnegative integer,
lu*vllciry < vl l[ullor (k= supp v)
/u(m —yw(y) dy, z—yeK-—suppwv
so let K' = K — supp v.

Corollary 2. C, : 2(R™) — R"™ is continuous.

Proof. Suffices to show for every K compact C,, : P — R is continuous. By using

Cy9x = Co,2(K) C 2(K + supp u)
we have it.

We now define the convolutions in the sense of distributions. Consider the following:

< Couyp> = /(u* V)¢ = //u(z)v(x ) de- d(x) da
— [ )itz - a)ota)

Define reflection o(y) = v(—y)

:/(ﬁ*q’))u

Formally,
Definition 2. Let v € LL(R™). Define for u € 9'(R")
<vxu,p >=< Cru, p >:=< u,Cs¢ >=< u, 0 * ¢ >

We have, C,, : v — ux*v, for u € 9'(R™).



